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- L Trigonometric Ratios )
1)
X The leg opposite to 0 is
The leg adjacent to O is
)
VA Y The hypotenuse is
2)
V The leg opposite to O is
u
‘ The leg adjacent to O is
w The hypotenuse is
3)
T The leg opposite to O is
‘R The leg adjacent to 6 is
The hypotenuse is
4)
A ) The length of the opposite leg is
35 i37 The length of the adjacent leg is
B3 C The length of the hypotenuse is
5)
15 M The length of the opposite leg is
L
8 The length of the adjacent leg is
17

N The length of the hypotenuse is

N

Printable Math Worksheets @ www.mathworksheets4kids.com



